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Structure and Characteristics of an Oligopoly

· Few sellers offering homogeneous or differentiated products to many buyers
· Highly concentrated markets

· Usually high barriers to entry

· Price makers but recognise mutual interdependence between firms in the market

· Market structures that fall between perfect competition and pure monopoly.
Conduct
· Small number of firms means that there will usually be some kind of interdependence.  

· Each seller recognises their actions can have a large impact on the profits of all the other sellers, and vice versa.
· As a consequence, sellers will tend to base their price and output decisions on strategic considerations regarding the behaviour of competitors
· Most economic theory is based on the assumption that firms are instrumentally rational, that is they act in their own self interest.
 Non - Collusive Models ..  .
	(1) The Kinked demand curve, in which that shows how prices are “sticky” around a point where elastic and inelastic demand curves intersect.

· If a firm raises prices, other firms won’t follow and the firm loses a lot of business.  So demand is very responsive or elastic to price increases

· If a firm lowers prices, other firms follow and the firm doesn’t gain much business.  So demand is fairly unresponsive or inelastic to price decreases.
BUT:  doesn’t tell us how we arrived at the original price/output combination
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(2) The Bertrand model, in which firms compete on price.  Assuming a duopoly with identical product & costs etc, a firm that undercuts its rival faces a trade-off:

· It might reap short term increase in profits if the price reduction results in higher market share

· It may even enjoy long-term gain if it retains this market share when pricing stability is restored

· BUT ~ if rivals respond by lowering their own price further, the firm that initiated the reduction could end up with no increse in market share but with lower contribution margins.

· The only point at which this could stop is when both firms set prices equal to their unit costs

This is called the Bertrand Equilibrium (normal profits only) ~ perfectly competitive equilibrium.  Known as Bertrand Paradox & the lesson is AVOID PRICE COMPETITION ~ try differentiation.  

	(3) The Cournot model, in which firms compete on output.  Again assuming duopoly and product & cost parity.   The new firm has to decide at what level to produce to maximise its profits.  However, any level will upset the original firms profit maximising calculations, thereby causing it to change its output.  The Cournot Conjecture is that the firm merely assumes that the other firm’s output choice will remain the same, and sets it’s level of output to maximise their own profits.  Each firm will have their own (equal) reaction function and the level of output will tend towards the Cournot Equilibrium.
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(4) The Nash Equilibrium ~ a non-cooperative equilibrium in Game Theory see later - each firm makes the decision that gives it the maximum possible profit, given the actions of its competitors.  You cannot make yourself worse off.  End up at the same point as Cournot Equilibrium.

Nash Equlibrium = n/(n+1) x Perfectly Competitive Output . . . . where ‘n’ is the no. of firms
OUTCOME
Possible outcome if oligopoly firms pursue their own self-interests ie don’t collude:
· Joint output is greater than the monopoly quantity but less than perfectly competitive quantity.

· Market prices are lower than monopoly price but greater than competitive price.

· Total profits are less than the monopoly profit.
When the oligopolists don’t collude the outcome is between Cournot / Nash Equilibrium and Bertrand Equilibrium /  Perfectly Competitive market.

(  As demonstrated, this does not produce a monopoly outcome.  Only if firms can:

· prevent entry by potential new firms and 
· collude with existing firms 
. . . . . . . can they realise a monopoly outcome and maximise profits
Game Theory

Game theory is increasingly used to show how firms make strategic decisions. Ie they don’t just consider just their own output & price decisions as in non-collusion. 
Strategic decisions may frequently include collusion. Collusion means that firms cooperate in choosing a market price and division of output 

There are two basic types of collusion: explicit collusion in which create restrictive practices or a cartel, and tacit collusion in which firms undertake actions that are likely to minimise competitive responses. Explicit collusion is illegal in many countries, including Western Europe and the US. Price leadership is a common form of tacit collusion. There are five main factors that help and hinder collusion:

1. Repeated interaction. Over a period of time, relationships may develop between firms. These may aid collusion without the need for rational incentives. Continued interaction also provides a mechanism for firms to punish other firms that do not co-operate. Punishment tactics include:
· tit-for-tat ~  firm colludes in current period only if other firm colluded in previous period; otherwise choose not to collude, eg price war.
· grim trigger strategy ~  firm colludes if the other firm colludes, but reverts to Nash equilibrium strategy in every future period if the other firm chooses not to collude.
2. Multi-market contacts. Conglomerates and diversified firms may meet in more than one market. Collusion in one market may lead to collusion in another if firms acquire a reputation for sticking or punishing. Cheating in one market may also lead to cheating in another, leading to mutual forbearance.
3. Cost asymmetries. Differences in costs, for example due to economies of scale, change firm beliefs on the level of output that maximises profits and the firm’s fair share of profits. Calculations for Cournot, Nash etc. are simplified if a firm has uniform costs.  OPEC example where Iran’s marginal costs increase more quickly than do Saudi Arabia’s.  Achieving coordination is more difficult if there is no collusion.
4. Fluctuation in demand. The signal that firms colluding work on is usually price. If a firm cuts its price, this could be a signal that the firm has cheated. On the other hand, the fall could be due to a change in demand. How well firms interpret this may affect how well firms collude.   Misreading and misunderstanding are what normally trigger price wars.  Incentives to cheat may also vary over the business cycle. During a boom, the increased demand will increase the incentives to cheat. During a slump, the effects of punishment are reduced.

5. Legislation.  Legislative obstacles & trade practices Law.  It leads to production that is too low and prices that are too high.
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